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u = WI - n, (n, + I)/2
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a n T%I A

1 21,400
2 28,300
3 22,800
4 19,900
5 30,100
6 20,400
I 23,700
8 18,700

Tt’fh  B di =  A - B i5.h

22,800 -1,400 1
29,100 -800 I
23,400 -600 3.5
19,300 600 .s
29,700 400 1
22,600 -2,200 2
24,200 -500 2
19,600 -900 a
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= lO(10) + ^ - 85.5
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8.2 9.4 1 1 . 1 10.4 8.6
10.3 12.3 12.0 9.3 9.1
8.9 10.0 11.8 9.9 10.9
9.4 8.4 10.1 12.2 11.9

10.3 11.4 8.8 7.4 11.2

n,  = L&W.JlU  A  = 1 2

Ill = b’&WJ70  B  =  1 2

n = 24 (b.%Jdlahu'aa~~U)

R = 12

2nln2
fiR = - + 1

n,  +a
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= +
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